> WC(K\t e LA (o

v =8 =2 LS
- = ‘ 2—- {'UM 1)7) Um_{-M

@,QN\FQ U\‘ VU-J"D o fﬂl'f\ +o P“’\A Hra (_C‘;Ugﬂ..g b

—

x(j: K S(ZB v 1«(‘1}_-‘;' 3¢ e lLZ' 40) el . poim‘\‘ %

—2 & % +38

Uo

L
e missile e odou e | - 7, LFo_lElm“}
| {

P eI nutes |
. i)

el = LT 112t YL

= = — 1L
LS o = = (.22 €eC

— e

200 2 (-49)

L0 (1‘7,2)1%—!1(\.1?5%- s

sk LWz sSew,

_ .

2, 6:"904{ + .88\
—b :P:,.?.ﬁ _
2o 2009

~.od()* * se(1)

8 ' "1 l ._7...,,.1.,, I ———— I SN,

e ————

ra———— e M i et i S

wet
l‘ﬁ?\;e_ Mﬂh+ ﬁ'b Hro w [,o q.m



\(-w( ey 'C,@(JJT% -

Set y=0 — o4 x” .8k =D

To fnd tha widt o€t Frowndd .- find  te

R __p

Tk (—,OW +,8%) =D

IK-:_O \ — g :."n%‘g
_______,._.——-‘

| f/*’ N, \
=l __‘Q_ = 4 ) L{— / jlf . § l““\,l
do. 2 J“‘LB | j= ‘ii\.
L' : A
5-’ - (43 *"P{Ur) 70 : C@%ﬂ
e
s
\‘j - % k/‘\/
&
Cob g0 do And imcepts
-L x* 44w =0
Ve ( -di ¥t L{«) =0
A= -—‘!_"2" X & q =0
”"7:, e
=¥

So tre width 5) Hhe R T

O
watd A



HVW\W"\ does the truck Q‘\-?

g e "‘ﬂl‘l ©

/ S (s, 4e75)
e A
i
e

—
=

d+2.8= L. S

go,m,j X = 6.5, now i

.0 uakU BT

Y = T s s

nee.o(:é +o fnd U

b . 3 :
(_‘-é,% H'['S "\'TU(l(- . 2.5 wm UJlG(JL t

V\U‘ﬁ\/\\' ot Hhot (I)oin‘\‘, PKUS \{—]V)a(‘,[(, in T s

7

/

13

BN

el

I

f
{
|
|

F;_:_,,.»—-—"—'J



